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Pascal Clamp

woi 1 YA

(e]3
A 3 Al TYAOT0 TYA020 TYAO40 TYAOG3 TYAT00 TYAT60 TYA250
e
® i Bodisipan) (N | 98 196 392 617 98 | 156 245
n ) S (MPa) 367
m| ul 29 zAe23 (mm) 6 7 8
W<
o - 2aTAE23 % (mm)| 3 4
bl

o
EELLER  am | 24 63 132 223 37 61 93
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x A aXxl = (mm) | 10 125 | 15 19 23 27 32
TER A28y ES IS P (mm)| 8 95 | 115 15 17 20 23
_ d = Xt (mm) +0.2
Ny

el

O h Xl = %3 (mm)| 50 50 50 60 | 70 80 | 100

225 | 28 28 | 38 48 68
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N = Xt (mm) +0.3
abdjhA48 UHH FAAS. %1 3T, TR0 G2 2248 4 AsUC
AAIOd hXl$E RLEXE HOAXEBXZ2 2 FTAUAIL X2 A2 ZEFN} 2HZT2ZXS0 2t 2L,
JIAD19d, hXl == 0.1mmE MK XEH ZAAIL 3. ZUhX+=E2C0 2 22 DEAL(H)0l ELICH
¥4 2 AKX $E0 H2 2= MEAM(T)0| ELIC
eI X = A/B,C D JRI4E TEXIS0 Met 2YFLIC = A TYA010| TYA020 TYA040 TYAO63 | TYAT00 TYAT60 TYA250
’ coge K (mm) | 73 101 143 163 | 195 | 230 270
- " 5 . L (mm) 15 |18 | 23 | 30 | 30 | 30 | 30
. ; . M (mm) | 58 | 8 120 133 | 165 | 200 240
- N (mm) 10 | 125 16 | 20 | 20 | 20 | 20
—— P (mm) | 31 | 41 325 36 | 62 8 90
X ﬁ; @ QW ~ R (mm) 465 58 | 73 | 93 | 104 | 125 | 155
wl o= H : : S (mm) |20 28 40 | 50 | 55 60 72
= g - AL T (mm) | 345| 43 | 575 685 97 | 120 | 156
UI o i U Rc1/8 Rc1/4
- Max. G (mm) 6 10 10 10 11 12 13
LQJ B Max. Q (mm) 18 | 22 |32 |36 | 45 | 55| 69
Min. E (mm) | 445 54 | 695 815 107 | 132 | 168
XFXI 45 hXl =0 et et LIt
= Al TYAO10 TYA020 TYAQ40 TYA63 TYA100 TYAT60 TYA250
16.5 25=h) 17.5 3255h) 275 (38=h) 295 (48=h) 45 (58=h) 60 (68=h) 76 (88=h)
F (mm) 21.5 (20=h<25) | 22.5(275=h<32.5) | 32.5(33=h<38) | 39.5 (38=h<48) 55 (48=h<58) 70 (58=h<68) 86 (78=h<88)
26.5 (15=h<20) | 27.5 (225=5h<27.5) | 37.5(28=h<33) | 49.5 (28=h<38) 65 (38=h<48) 80 (48=h<58) 96 (68=h<78)




